FLUILS U E (EHRE)

1800

1600

1400

1200

—_
o
o
o

800

600

400

200

—— AR T ILI—(HRES)
—o—-REHH I ILI— (BEER)
—A— FYa—h @E

- -A—-EYa—k (FHER)
—m—av g —R #EEH)
—a--21avy)—R (EER)
—%— I\ TvT DHEEH)
—o— FEEHAENH

BAEE

B ERROBEDRICEHIT S FHERER




0¢

220
200
180
160
140
120
100
80
60
40
20

30.0

20.0

10.0

0.0

—e—PM25(EMR)
-- & --PM25(fAN)
—O—PMI0(BM)
-- A --PMIO(fAN)

3/1

3/2

3/3

FERDIEE

3/4

3/1 3/2 3/3 3/4
TE AR
3/1 3/2 3/3 3/4

X2—1

HERE 2

PM, 5 iR

60
40 —e—PM25(BM)
-- & --PM25(AAN)
20 —O—PMI0(BH)
<-4 - -PMIO(EN)
0
2/28 3/1 3/2 3/3
SERDIEE
5 -
Al
3
2
L
o ‘ ‘ ‘
2/28 3/1 3/2 3/3
TER RAEL
300
200 |
100

2/28 3/1

3/2

3/3

HEE 3

PM, 5iR &

—&—PM25(EWR)
-- & --PM25(EN)
I —O—PMI0(EM)
h <-4 - - PMIOUEA)
20 A:;.____ ..
0 N L
2/27 2/28 3/1 3/2 3/3
SERDFEE
5
4l
3
2|
0 ‘ ‘ ‘ ‘ ‘
2/21 2/28 3/1 3/2 3/3
TEMREEK
300
200
100
00 M

2/21

2/28 31

X RE BRI E LR FPM25 PMI0IRE, TEMIERER DR (F4)

3/2 3/3



